
Section 2 - Tune-up K
its &

 Service Parts

Page  33 - 12

 P.O. Box 846 - Farmingdale, NJ 07727 

♦   Tel: (800) 631-2153
Customer Service

www.crownengineering.com
♦  Fax: (888) 645-7278

Part Number: 40275
Description: The updated “PRO” ignition kit	
Packaging: Durable plastic carrying case	
Includes
This kit contains a variety of ignition terminals,
standard electrodes, popular OEM electrodes, and other 
necessary accessories to get burners up and running. 
Don’t leave the shop without it!	

         Terminals and Hardware	 		
Quantity	 Contents	 	
  10 ea.	 50000 Cage terminal		
  10 ea.	 50100 Spring terminal		
  10 ea.	 50200 Ring terminal		
  10 ea.	 50450 Right angle cage terminal		
  10 ea.	 50600 Stud ferrule		
  10 ea.	 50760 Hex base stud 6-32 thread.		

  10 ea.	 50700 Hex base stud 10-32 thread.		
    5 ea.	 50860 Hollow stud 6-32 thread.		
    5 ea.	 50800 Hollow stud 10-32 thread.		
  10 ea.	 50900 Eyelet		
  10 ea.	 60018 Flat hex nut 6-32 thread.		
  10 ea.	 60022 Flat hex nut 10-32 thread.		
	
		
        Special OEM Electrodes	 		
Quantity	 Contents	 	
    2 ea.	 20410 Beckett		
    2 ea.	 20780 Carlin		
    2 ea.	 28022 Wayne		

			 
                  Special Tools			
Quantity	 Contents	 	
    1 ea.	 40430 Igniter tip bending set		
    1 ea.	 40445 Electrode setting gauge		

			 
                    Buss Bars	 		
Quantity	 Contents	 	
    2 ea.	 40315 Round buss bar - 12” long		
    2 ea.	 40320 Flat buss bar - 12” long		

       
      Standard Electrodes	 		
Quantity	 Contents	 	
    4 ea.	 01041		
    2 ea.	 03050		
    2 ea.	 04040		
    4 ea.	 05040		
    4 ea.	 05050		
    2 ea.	 05060		
    2 ea.	 06040		
    2 ea.	 06042		
    2 ea.	 06050		
    2 ea.	 06060			 

			     
Test Jumpers, Cable, and Chart		
Quantity	 Contents	 	
    1 ea.	 40630 Set of booted test leads		
    1 ea.	 5 ft. length GTO-15 ignition cable		
    1 ea.	 Trouble shooting chart		


